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{Regras)

. (D Para armar a conta, alinhar os
: numeros por ordem das casas ;

. @ Tragar a linha com régua
[}

+ @ Calcular pela casa da unidade '
“ Pegar emprestado 1 da casa da
: dezena ;

2 @ Calcular a casa da dezena .
' Pegar emprestado 1 dacasada
: centena

. ® Calcular a casa da centena :

' (® Escrever a resposta
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. 5 E . - ﬁ& w §+ % 3,":’& Find the cube root of 729.
' i Ii H Press

i

MY

. > .) ' )i el 2 7
} ARE J_l__.l_l j_J J -y Find the sum of 3§ and 45. Express your answer as:
}\ﬂ gj‘}jgj 5 ,‘_\ e a mixed number @ a decimal correct to 2 decimal places
2nd Edition 2 7 gy
@ 35 +45 =!? Press
0
2
IEOEE 3%
-
|, DEEDEE 3
The sum of3— and4— |58—. B%
2 7
® Thesumof37 and 45 ~828.
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O 047x4
. ; ﬁ 0.47 is 0.5 when rounded off to the nearest tenth.
n

05 X 4=

- FRETFRMSRE|| o0

32+ 4

"Gﬁﬂ’l 3.46+4<:36+4

'+ﬁ1ﬁH¥L}*ﬁiﬁd) zi:6+is:<a-_arert03.6thanto32 36tenths+4_g;enths '
EEEER Pt i

48 + 6
/

1015, 10017, 1/10, T N

5.28 is nearer to 5.4 than to 4.8.

1/100&LV>T=F % a6
%91 So,5.28 + 6 =

@ Calculate. Then check if your answer is reasonable by estimation.

I:I /\"r
E— 1 $1242 + $12.64 $1.45 — $0.54
s EDREFTVY 0 0

® s1.79x3 o $1.45 +5

4 J'L
12 HBRE,,. Get your child t e estimatio che k if his answer is reasonable. He can do so using mental
Maths calculatlon Fo mpl ,0.28 + 5 03+5 -
= 30 hundredths + 5 i e T
= 6 hundredths = 0.06

e

Illlﬁ'
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¥ Definitions ¥ Finding Trigonometric Ratios Using Calculators
A The values of trigonometric ratios of any angles can be found easily using a calculator.
/// As angles can be measured in different units, we must make sure that the calculator is
hypotenuse. o opposite set to the Degree Mode before making any computations.
R side

/,5/ ‘ For a given angle @, we can use the keys, sin , cos and tan , on a calculator to find

A ]

B adjacent side (& the values of sin 0, cos ) and tan @ respectively. Let us see some examples.

I Applications of Right-angled Triangles

When appropriate conditions of a right-angled triangle are given, we can apply the
trigonometric ratios to find the unknown sides of the triangle. Let us see some examples.

Find the values of the following, giving your answers correct to
4 significant figures.

D

L "% In the diagram, AB = 12 cm, ZBAC = 31° B (@) sin78 ) (b) 3sin 26
and ZACB = 90". Find the lengths of BC and (c) sin 21.4° + sin 56.6°
AC, correct to 3 significant figures. 12
a
@ Solution (a) Keying sequence: sin 78 =
A
(o4 T ic . 7R 14
Solution In AABC, 2 The dlspla). 0978 147 6
sin 310 = BC = s sin 78" = 0.9781 (correct to 4 s.f))
12 .
& BC =12sin 31° L .
=618 cm (correct to 3 5.£) (b) Keying sequence: 3 X  8§in 26 =
v MG " s X n
oo A= The display: 1.315 113 44
il 12 cossly " 3sin 26" = 1.315 (correct to 4 s.f.)
=103 cm (correct to 3 s.f.)
Note: After finding the length of BC, we can also use Pythagoras’ (c) Kcving sequence: sin 214 + sin 566 =

Theorem to find the length of AC. Students are encouraged
to try this way and compare the result with the given solution.

In the diagram, PQ = 9 cm,
ZQPR = 60" and ZPQR = 90°. Find
the lengths of QR and PR, correct Note:

to 3 significant figures.

The display: 1.199 724 648

; . sin 21.4° + sin 56.6" = 1.200 (correct to 4 s.f)
In general, for any two angles # and ¢,

? 1. sin (kf) = k sin 0, where k is a constant,
R 2, sin & + sin ¢ = sin (0 + ).

Q
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1. When an aeroplane B is vertically above a spot C,
the angle of elevation of B from a point A, 600 m
from C, is 52°. Find the height of the aeroplane
above the ground.

ﬂe_%_g

32° 1
A 600 C

2.  In the diagram, the angle of elevation of the top F
of a flagpole FM from a point A on the ground is
43", Given that AM = 5 m, find
(a) the height of the flagpole,
(b) the distance AF.

43°

3. In the diagram, TF is a building of height 60 m.
From the top T of the building, the angle of
depression of a man M on the ground is 35°. Find
the distance FM.

w

The diagram shows a hot-air balloon B hovering

above the ground level AC and AB = 500 m. The

angle of depression of A from B is 31°. Find

(a) the horizontal distance AC,

(b) the height of the hot-air balloon above the
ground.

I@ H

[31°

SO0

Mary wants to estimate thé height AB of a vertical
building. She walks 100 steps away from the foot
B of the building to a point C on a horizontal
ground. The angle of elevation of the top A of the
building from C is measured to be 38°, Assume
that each of her walking step is 30 cm. Calculate
the height AB, correct to the nearest metre.

@*‘ LEVEL 2

6.

The eye level of a boy is 1.6 m from the ground.
He stands 70 m in front of a building. His angle
of elevation of the top of the building is 34°, Find
the height of the building correct to the nearest
metre.

By the cosine rule.
a =b+¢c - 2bccos A
1344175 =2 %11

17 % cos 74° ™\

- 306.912 J 8
a = V306912 1 <

= 17.519 ‘ .

BC =17.5cm (correct to 3 s.f) Al st

RIGIETE
c0s74°(30°,45°78 E DKL V)
EMt (FETETIEAAIEE

m BT
m AE:
B ZUE :

MIREMEETE
iﬁ%%%éd)ﬂb\b ANANOE—,
l
[l REAE R (C BHEEE 2 DIEMRE A
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/\‘ I\ j— O) %& *Q E ( — B Lj— Ngodi chic ning thue hién bon phép todn ;
L cong, trir, nhn, chia véi s6 thap phan, may - oo g A
-A\ = 1C 5 tfly CASIO (:220 (h, 24) cdn c6 nhidu chitc i

RN EEDER

O XNFLOEFERE (ZALE - ZIRGEN) 0 ot et i i

TIM Ti SO LUGNG GIAC VA GOC
BANG MAY TINH BO TUI CASIO fx-220

nang khac, trong d6 ¢6 chifc nang tinh céc ti
s6 lugng gidc cta goe nhon va tinh so do cua
g6c nhon khi biét mot ti s6 luong gidc cia no.
Trong chuong trinh THCS, ta chi hoc s6 do
gdc la do, phut, gidy nén sau khi bat mdy

(nhdn phim hay [ON]) ta chon kiéu

hai phim [4]. Khi d6, & phia trén

o NIEREFFRETHE TEA
® M ARERPELARE. AASEY (CIER
® SRDFAZENER - KF A CTWIA

€ Sin54°DfE (FERE3IFF)

ctia man hinh xuft hién chit DEG.

& HRIROHE (PFREIFE)

Trong vi du 3, hdy tinh canh BC ma khong dp dung
RS 5 360
dinh Ii Py-ta-go.
Vi du 4. Cho tam -gidc OPQ vuong tai O co 2
P =36°, PQ =7 (h.28). Hay gidi tam gidc vuong
OPQ.
Gidi. Tac6 Q = 90° — P =90° - 36° = 54°. o
Theo cdc hé thifc gilta canh va goc trong tam gidc Hinh 28 -
vuong, ta co
OP = PQ.sin Q = 7.5in54° = 5,663 ;

Vi du. Giai phuong trinh 3x%-4x-7=0.
* Tinh A

7] S el Y Y D | P Y
(Mdy cho két qua 1a 100, vi 100 > 0 nén ta thuc hién ti€p viéc tim nghiém)
* Tim nghiém

VI Min ][ = EHRIEBEE

Két qua X, = 2,333333333.

Dé tinh x, = 4; \:{Z , ta dung phim [MR ] dé goi VA . Cu thé :
[a] =] [mMr][=](=][6][=]
Két qua x, = ~1.

— AR BEUNDIRNDEE

) 15 + 4x - 2005 = 0; b)——gxz Lx +1890 = 0.

EMIREUE =N D T EE
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